3 группа
Реши уравнения любым из трёх способов:

Х-5=12      О

90-Х=20     Д

52-Х= 12    В

50-Х=20     У

15+a =20     Х

54-Х=4        З
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2 группа
Реши уравнения любым из трёх способов:



17-а=9       Д

64-Х = 4       В

Х+8=28         А

Х-6=17          О 
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	20

	
	
	
	





























1 группа


Реши уравнения любым из трёх способов:


18-а =9  Р

Х+25=60  Т

Х-9=17  Д

54-Х=4  У

	35
	9
	50
	26

	
	
	
	





















4 группа
Реши уравнения любым из трёх способов:

Х-3=7  П

47-а=  40     О

50-Х=40  С

60+Х=90  Т

а-8 =12  Р

	30
	10
	7
	20
	30

	
	
	
	
	







